SuMPO EPD
F1TNBRBEE
Fi#&ES ¢ JR-AI-25038E

SuMPO

\EPD

N
VERIFIED

FULFILM

(EPD)

SUMPORIEINILTOI 5 L
—MRHAEEEANY AT IR EHEREAS
RRBFRHEXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BIIAL EVRR 1/8-YauRa
FUJIFILM Business Innovation Corp.

A3 B/IDEE

A3 Monochrome Multifunction Printer

Apeos

fe——

Fo—

e — —
P )
& &

12F—HEENA (AT33Y) BEHERICEHFEA.

2561 (Model-PFS-4T-B)
(for JP)

Apeos. Apeos 0. ApeosPro. ApeosPort SKTF ApeosPrint (. BEXITAILAESRRA I R—2 3  HARHOBREEFEZ(EBEHIETT .

HEHEN
WE1EHEY
HEXN RS
W &i&8F O e

OEMREZE QEE QRE @R - #k
®EE-UHMI)

HOR, TEMLEK-FET

ity : Apeos 2561 (Model-PFS-4T-B)
FEMAH  T/IDELKE EPAR)
ENRIERE : £/70 25ppm (A4 LEF)
BARAIYIX A3, 11x17"
FUV/AE—/ %5V /FAX

T E ED R B8 /ADF (R f B BhEeid )

FAWahtk

EETRAXMAREHFS V6T B1E
https://www.fujifilm.com/fb/

ERES JR-AI-25038E
EFPCRES  pA-590000-Al-08
PCR# ER A H 25
NE]=! 20255 10A2H
REEETEE 202549890
BRIEA N VAT LRI AR
R ES 2025-FB-EL-019

RAIEEIRE 2030498 8H
PCRLE1I-DEHE

FEHSF 20234 9R 1H
ZER M5 B2
(AR — AR EIR A Y AT S TR EHEE )
B=ERE BEHT
S ERIRIER

ISO14025(C RS TeARE B R UT —5 DML LIAREE
OB mALEB

*YAT LR ER I EEENORIEDS AR, VAT LREAETLEEAD
£EIERH,

SELITMIWLESRRA I R—>3 VikRatt

Z5&ES ¢ JR-AI-25038E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPORRIEIANINTOY T L

E p D _ — A FR A AT IR S
) 'o A14TNTBEEE (EPD) FERATF R ER AHE1-14-8
VERIFIED KANDA SQUARE GATE
BiFEE JR-AI-25038E https://ecoleaf-label jp
F1IH1 VR EFFMER
o . . fEF - HEHs
RERERRE | EUSERE T BB e FEEEERRS
28
S[REEH-SE kg-CO2eq 4.61E+02 1.65E+01 3.94E+01 7.43E+01 1.03E+02
AV ERHIE kg-CFC-12eq 3.75E-05 2.71E-08 2.90E-08 1.06E-06 2.12E-08
EREL kg-PO.132-eq 1.42E-02 3.25E-04 2.18E-04 1.80E-03 1.13E-04
iz E(d kg-SOzeq 1.47E+00 1.17E-01 5.24E-02 3.50E-01 1.07E-01
HALZAEIHI VU kg-CzHseq 8.90E-03 1.02E-05 3.54E-04 6.33E-04 8.09E-04
FEEYE RS- kg-Sbeq 7.27E-01 6.50E-05 1.54E-05 6.48E-03 2.03E-05

S1T917WAIRY MU 3 REEER

—REROERCEITBIE1F

FREEER | MERE | SRR ﬁ’?ﬁ'ﬁffﬁ EEE
BEAR—RER M) 1.55E+01 2.45E-03 2.93E+02 6.49E+02 8.67E-03
FF/LETRE—RER MJ 1.37E+03 1.88E-01 2.88E+00 6.31E+01 1.14E-01
BAEARE—RIRIF- MJ 1.12E+03 1.49E+02 1.12E+01 3.82E+02 4.57E+01
FEFEAMRE—RIRIF- MJ 7.94E+03 5.94E+02 4.65E+02 1.85E+03 5.30E+02
WKDHEE m? 3.49E+00 1.13E-02 3.08E+01 6.83E+01 8.19E-03

EEERICATZEMIER
BAREAAGFERELTERELELE,
EEHEPAR)DIZEYTUATEELTVET,
‘B RO EFERPRESERTT,
fEA - HRERRICBI R BROA T EEENE A,
ERBOEN G, IRINF-A5-T0JT LVer3 28 ¥ (A>T E LETECIEE TTICEELELE,
A8 E ENRIARE (. 90,0004K TF
1/4 x 25 (Y3T/H) x 12(8) x 5 (B) x 4 (B) x 12 (7 B) x 5 (££) = 90,0001%

ZOfth DIRIZREIE R

CIRVF-R5-TOY5LVer3.2 BEE,

MHRELUMEICRIT MRS HEMHEICETSHEE
HH

E-9E (EAFHS) Bfif CAS No. ENE
Eimi 38 kg - - B
Sus 032 kg - - -
FIVIZUL 0.52 kg
FI3AFYY 32 kg BREfI, LCIT-5R-RIDEA Ver3.4, SUMPORREININTOIILZEFET-H
N 0.37 kg Ver.1.15ZEALTLETY,

AR 1.4 kg

AR 9.8 kg
REEBEER 0.84 kg {ig®
I ER 3.4 kg -
Z0fts 37 kg

OT-YEENH L. PCREBLUVEE - EERBESBLIELN,
OLLRIIOVNTUL EE - EERBCHEINLEAFERELEGEICLARHONE A,
(BBB4EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

